A cylindrical water tank has the height 8m and the radius 2m. It is half
full of water. Water has the density p ;";;‘-’_— and the acceleration due to
gravity is ¢ %. The work done pumping all the water to the top of the

tank 1s:
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. Compute the value of the integral / 2rInzdz.
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Evaluate fow/ sin® z cos? zdzx
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Compute
/ Tsec! z dx
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After a proper trigonometric substitution is used to transform / e 2t lnto / f(6) do,
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Use the fact that
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Each of the following statements is either true or false. Determine which are true and

which are false.
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